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QUESTION 1

An IT department is experiencing random hardware failures that are costing the company money. The CIO is looking for
technical support beyond traditional break/fix with enhanced visibility and proactive insights into the environment at no
additional cost.

Which VMware service meets the needs of the CIO? (Choose the best answer.)

A. VMware Global Support Services

B. VMware Premier Support

C. VMware Skyline

D. vRealize Operations Manager

Correct Answer: C

Reference:

https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/support/ vmware_skyline_solution_overview.pdf

QUESTION 2

An administrator is tasked with planning an upgrade of a VMware vSphere environment to version 7.0. The platform
consists of 80 ESXi hosts, logically divided into 10 clusters. The tasks will be completed by another operations team
within the company.

The hardware is consistent and a single embedded vCenter Server 6.7 appliance is managing the environment.
Which statement is true regarding a suitable upgrade approach? (Choose the best answer.)

A. The vCenter Server can be upgraded using a pre-configured customized JSON template.

B. The ESXi hosts can only be upgraded using the Graphical User Interface Installer.

C. Auto-deploy must be used to upgrade the large scale environment.

D. A new Platform Services Controller must be deployed first.

Correct Answer: C

QUESTION 3

An administrator places a 300 GB virtual machine named “Financel” on a 2 TB datastore containing other virtual
machines. After virtual machine placement, the datastore has 200 GB of free space. The accounting department takes a
nightly snapshot of Financel, then deletes the previous snapshot. The administrator is concerned about snapshots
filling the datastore.
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Which statement is true regarding snapshots? (Choose the best answer.)

A. The snapshots on Financel cannot outgrow the datastore in less than 24 hours.

B. Any snapshot on Financel has the potential to fill the datastore to capacity.

C. vCenter Server will not allow snapshots to fill the datastore beyond 95%.

D. The snapshots on Financel will be automatically committed if SEsparse format is used.

Correct Answer: A

QUESTION 4

What is the server virtualization product that combines the ESXi hypervisor and the vCenter Server? (Choose the best
answer.)

A. NSX

B. vRealize Operations Manager
C. vSphere

D. vSAN

Correct Answer: C

Reference:

https://www.mustbegeek.com/understanding-vmware-vsphere-7-editions-and-features/

QUESTION 5

An administrator is investigating the reason for a powered on virtual machine failing to migrate with the following error
log message:

The virtual machine requires hardware features that are unsupported or disabled on the
target host.

CPUID details: incompatibility at level Oxx register ‘xxx’
Host bits: XXXX:XXXXIXXXXIXXXXIXXXX!XXXX!XXXXIXXXX

Requi red: XXXX:XXXX:XXXXIXXXX:XXXX:XXXX!XXXX:XXXX

Which step should the administrator complete to resolve this error? (Choose the best answer.)

A. Configure High Availability on the cluster.
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B. Configure vSAN on the cluster.

C. Configure Distributed Resource Scheduler (DRS) on the cluster.
D. Configure Enhanced vMotion Compatibility on the cluster.
Correct Answer: D

Reference: https://kb.vmware.com/s/article/65151
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